KURYAKYNU¢

INSTALLATION INSTRUCTIONS
KOOL KAPS ENGINE KIT FOR MILWAUKEE-EIGHT®°, CHROME 2464

THANK YOU FOR CHOOSING KURYAKYN!

Protect yourself and others from possible injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices regarding the installation, use, and care of this product.

A WARNING THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR SERIOUS INJURY.

A CAUTION THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT IN MINOR OR MODERATE POTENTIAL INJURY.
NOTICE THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN MAY NEGATIVELY AFFECT PRODUCT PERFORMANCE AND FUNCTIONALITY OR
DAMAGE THE PRODUCT ITSELF OR THE PRODUCT TO WHICH IT IS BEING ATTACHED.

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT:
1 Kool Kaps Engine Kit Including:
10 Kool Kaps for 5/16” Socket Head Cap Screws 6 Kool Kaps for 5/16” Hex Head Cap Screws
36 Kool Kaps for 1/4” Socket Head Cap Screws 10 Kool Kaps for 1/4” Hex Head Cap Screws

YOU WILL ALSO NEED:
Silicone Adhesive

NOTICE THESE INSTALLATION INSTRUCTIONS CONTAIN IMPORTANT INFORMATION. ENSURE THE END USER RECEIVES THIS COPY AND IS AWARE
OF ITS IMPORTANCE FOR FUTURE USE.

STEP 1 Read and understand all steps in the instructions before starting the
installation. Park the motorcycle on a hard, level surface and turn off
the ignition. Let motorcycle cool.

A WARNING YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST SYSTEM
DURING INSTALLATION. ENSURE THAT THE ENGINE AND EXHAUST
SYSTEM HAVE FULLY COOLED TO PREVENT INJURY.

NOTE: Sizes listed for Kool Kaps are the wrench size used on the
fastener, not the fastener shaft size.

NOTE: Not all Kool Kaps will be used for every application. If do not
use all the Kool Kaps in the suggested areas, you may use them on
any appropriate sized fastener on the bike. The following are suggested
locations.

NOTE: Kool Kaps are designed to friction fit over SAE fasteners. In case
the fit is not tight enough for your satisfaction, we recommend using a
silicone adhesive to ensure the Kool Kaps stay in place. Apply a small
amount of the silicone to the Kool Kap and press it in place. Remember,
silicone expands as it dries, so using a little less will help keep the Kool
Kap tight to the fastener head when the silicone dries. The silicone will
fully cure in 24 hours.

NOTICE DO NOT USE ANY OTHER TYPE OF GLUE TO ADHERE THE KOOL KAPS TO
ANY FASTENER, EXCEPT FOR SILICONE ADHESIVE.


https://www.motorcycleid.com/kuryakyn/

KURYAKYNU¢

INSTALLATION INSTRUCTIONS

KOOL KAPS ENGINE KIT FOR MILWAUKEE-EIGHT®, CHROME 2464
-CONTINUED-

5/16” SOCKET HEAD KOOL KAPS 5/16” HEX HEAD KOOL KAPS
10 Transmission End Cover 10 Head Bolts (right-brake side)

1/4” SOCKET HEAD KOOL KAPS 1/4” HEX HEAD KOOL KAPS
9 Tappet 6 Cylinder Base Area
9 Timing Cover
9 Transmission Top
9 Primary Cover

A CAUTION  ENSURE THAT THE INSTALLATION OF THIS PRODUCT DOES NOT
INTERFERE WITH THE PROPER OPERATION OF THE MOTORCYCLE
BEFORE RIDING.

IT IS THE INSTALLER’S RESPONSIBILITY TO ENSURE THAT ALL OF THE
FASTENERS (INCLUDING PRE-ASSEMBLED) ARE TIGHTENED BEFORE
OPERATION OF THE MOTORCYCLE. KURYAKYN WILL NOT PROVIDE
WARRANTY COVERAGE ON PRODUCTS OR COMPONENTS LOST DUE
TO IMPROPER INSTALLATION OR LACK OF MAINTENANCE. PERIODIC
INSPECTION AND MAINTENANCE ARE REQUIRED ON ALL FASTENERS.

Discover various motorcycle custom accessories and trim in our online store.


https://www.motorcycleid.com/custom-accessories-trim.html



